

LUCAS' THEOREM FOR EXTENDED GENERALIZED BINOMIAL COEFFICIENTS

R. L. Ollerton

University of Western Sydney, Penrith Campus DC1797, Australia

A. G. Shannon

KvB Institute of Technology, North Sydney 2060, and
Warrane College, The University of NSW, Kensington 1465, Australia

1. Introduction

Lucas' theorem says that for prime p with $n = \sum_{j=0}^r n_j p^j$ and $m = \sum_{j=0}^r m_j p^j$, where $0 \leq \{n_j, m_j\} < p$, we have

$$\binom{n}{m} \equiv \prod_{j=0}^r \binom{n_j}{m_j} \pmod{p}.$$

Bollinger and Burchard [1] have derived a corresponding theorem for the generalized binomial coefficients, namely,

$$\binom{n}{m}_s \equiv \sum_{(s_0, \dots, s_r)} \prod_{j=0}^r \binom{n_j}{s_j}_s \pmod{p}$$

where (s_0, \dots, s_r) are all $(r+1)$ -tuples such that $m = \sum_{j=0}^r s_j p^j$ and $0 \leq s_j \leq qn_j$.

We have shown in [4,5] that the k -extensions of the generalized binomial coefficients have direct combinatorial interpretations and satisfy

$$\sum_{m=0}^{qn} m!^{-b} \binom{n}{m}_q x^m = \begin{cases} \frac{{}^k T_q(x)^{n+1} - 1}{{}^k T_q(x) - 1} & (= n+1 \text{ for } {}^k T_q(x) = 1) \quad k = 0 \text{ to } 3 \\ {}^k T_q(x)^n & k = 4 \text{ to } 7 \end{cases} \quad (1.1)$$

where $0 \leq k = abc_2 \leq 7$ and

$${}^k T_q(x) = a + \sum_{i=1}^q i!^{c-b} x^i = \sum_{i=1-a}^q i!^{c-b} x^i.$$

In particular, $\binom{n}{m}_s = {}^4 \binom{n}{m}_q$ with $q = s-1$. Corresponding extensions to Lucas' theorem are considered in the following sections.

2. Lucas' theorem for extensions $k = 4$ to 7

For $k = 4$ to 7 , the derivation of a Lucas-type theorem is similar to that given by Bollinger and Burchard although we have also implicitly demonstrated its validity for generating functions which are powers of any polynomial. In the following, note that since $a^{p^j} \equiv a \pmod{p}$, j integer, it can be shown that $P(x)^{p^j} \equiv P(x^{p^j}) \pmod{p}$ for polynomial $P(x)$.

$$\begin{aligned}
 \sum_{m=0}^{qn} m!^{-b} \binom{n}{m}_q^k x^m &\equiv {}^k T_q(x)^n \\
 &= \prod_{j=0}^r {}^k T_q(x)^{p^j n_j} \\
 &\equiv \prod_{j=0}^r {}^k T_q(x^{p^j})^{n_j} \pmod{p} \\
 &= \prod_{j=0}^r \left\{ \sum_{s_j=0}^{qn_j} s_j!^{-b} \binom{n_j}{s_j}_q^k x^{s_j p^j} \right\} \\
 &= \sum_{m=0}^{qn} \left\{ \sum_{(s_0, \dots, s_r)} \prod_{j=0}^r s_j!^{-b} \binom{n_j}{s_j}_q^k \right\} x^m
 \end{aligned}$$

where (s_0, \dots, s_r) are all $(r+1)$ -tuples such that $m = \sum_{j=0}^r s_j p^j$ and $0 \leq s_j \leq qn_j$. Thus,

$$m!^{-b} \binom{n}{m}_q^k \equiv \sum_{(s_0, \dots, s_r)} \prod_{j=0}^r s_j!^{-b} \binom{n_j}{s_j}_q^k \pmod{p} \quad (2.1)$$

after equating coefficients of powers of x . For $k = 4$ and 7 , this reverts to Bollinger and Burchard's formula for the generalized binomial coefficients. Exemplar values of the coefficients are given in Table 3 of [4].

Example 1: $\binom{6}{5}_2^5 = 366 \equiv 1 \pmod{5}$.

Here, $(a, b, c) = (1, 0, 1)$, $q = 2$, $n = 6$ and $m = 5$. Thus, $6 = 11_5 \Rightarrow (n_0, n_1) = (1, 1)$ and $r = 1$.

Also, $s_0 + s_1 5 = 5$ with $0 \leq \{s_0, s_1\} \leq 2 \cdot 1$ gives $(s_0, s_1) = (0, 1)$. The right-hand side of (2.1)

is then $\binom{1}{0}_2^5 \binom{1}{1}_2^5 = 1$ as required.

Example 2: $3!^{-1} \binom{5}{3}_2^6 = 20 \equiv 2 \pmod{3}$.

Now $(a, b, c) = (1, 1, 0)$, $q = 2$, $n = 5$ and $m = 3$ so that $5 = 12_3 \Rightarrow (n_0, n_1) = (2, 1)$ and $r = 1$.

Also, $s_0 + s_1 3 = 3$ with $0 \leq s_0 \leq 2 \cdot 2$ and $0 \leq s_1 \leq 2 \cdot 1$ gives $(s_0, s_1) = (3, 0)$ or $(0, 1)$. The

right-hand side of (2.1) is then

$$3!^{-1} \binom{2}{3}_2 0!^{-1} \binom{1}{0}_2 + 0!^{-1} \binom{2}{0}_2 1!^{-1} \binom{1}{1}_2 = 2$$

as required.

3. Results for extensions $k = 0$ to 3

A similar formula for $k = 0$ to 3 remains an open problem. However, results for certain combinations of the extended coefficients can be obtained as follows. For $k = 0$ to 3,

$${}^k T_q(x) = \sum_{i=1}^q i!^{-b} x^i = x \sum_{i=0}^{q-1} (i+1)!^{-b} x^i \quad \text{and} \quad \sum_{m=0}^{qn} m!^{-b} \binom{n}{m}_q x^m = \frac{{}^k T_q(x)^{n+1} - 1}{{}^k T_q(x) - 1}.$$

Thus,

$$\left(1 + ({}^k T_q(x) - 1) \sum_{m=0}^{qn} m!^{-b} \binom{n}{m}_q x^m \right) / {}^k T_q(x) = {}^k T_q(x)^n \quad (3.1)$$

whence we define $\binom{n}{m}_q^*$ by

$$\begin{aligned} x^n \sum_{m=0}^{(q-1)n} m!^{-b} \binom{n}{m}_{q-1}^* x^m &= {}^k T_q(x)^n \\ &= \sum_{m=0}^{qn} m!^{-b} \binom{n}{m}_q x^m - \left(\sum_{m=1}^{qn} m!^{-b} \binom{n}{m}_q x^m \right) / {}^k T_q(x). \end{aligned} \quad (3.2)$$

This is a reasonable definition because of the form of ${}^k T_q(x)$. Relationships between the asterisked and un-asterisked coefficients can be obtained by equating coefficients of powers of x . Applying the approach used previously for $k = 4$ to 7 leads to

$$m!^{-b} \binom{n}{m}_q^* \equiv \sum_{(s_0, \dots, s_r)} \prod_{j=0}^r s_j!^{-b} \binom{n_j}{s_j}_q^* \pmod{p}. \quad (3.3)$$

In particular, when $k = 0$ or 3,

$${}^k T_q(x)^n = x^n {}^{k+4} T_{q-1}(x)^n = x^n \sum_{m=0}^{(q-1)n} m!^{-b} \binom{n}{m}_{q-1}^{k+4} x^m$$

so

$$\binom{n}{m}_q^* = \binom{n}{m}_q^{k+4} \quad (3.4)$$

and (3.3) is clearly satisfied because of (2.1). Also, solving (3.2) for the asterisked coefficients and substituting in (3.4) gives further interrelationships between the k -extensions.

Example 3: $\binom{4}{2}_1^*$ is the coefficient of x^6 on the LHS of (4). The corresponding coefficient on the right hand side is

$$\binom{4}{6}_2 - \sum_{m=1}^7 (-1)^m \binom{4}{m}_2 = 7 - (1 - 2 + 3 - 5 + 7 - 7 + 4) = 6.$$

(*Mathematica* was used to do the required polynomial division.) From (3.4),

$$\binom{4}{2}_1^* = \binom{4}{2}_1 = \binom{4}{2} = 6 \text{ as required and the coefficient interrelationship is given by}$$

$$\binom{4}{2}_1 = \binom{4}{6}_2 - \sum_{m=1}^7 (-1)^m \binom{4}{m}_2.$$

In this example, (3.3) effectively reverts to an application of Lucas' theorem for the binomial coefficients. However, to complete the example, the calculations based on (3.2) will be demonstrated for $p = 3$. Here $(a, b, c) = (0, 0, 0)$, $q = 1$, $n = 4 = 11_3$ and $m = 2 = 02_3$ so (3.3) becomes

$$\binom{4}{2}_1^* \equiv \binom{1}{2}_1^* \binom{1}{0}_1^* \pmod{3}.$$

Equation (3.2) gives

$$\binom{1}{2}_1^* = \binom{1}{3}_2 - \sum_{m=1}^2 (-1)^m \binom{1}{m}_2 = 0 - (-1 + 1) = 0$$

and so the right hand side is zero as expected.

Finally, equation (3.2) also indicates that terms on the right hand side are zero for $0 \leq u < n$. Thus,

$$u!^{-b} \binom{n}{u}_q - u!^{-1} \frac{d^u}{dx^u} \left(\frac{\sum_{m=1}^{qn} m!^{-b} \binom{n}{m}_q x^m}{{}^k T_q(x)} \right)_{x=0} = 0.$$

For example, $k = 0$, $q = 2$, $n = 6$ and $u = 5$ leads to

$$\binom{6}{5}_2 - \sum_{m=1}^6 (-1)^m \binom{6}{m}_2 = 8 + 1 - 2 + 3 - 5 + 8 - 13 = 0$$

which clearly exploits a property of the Fibonacci sequence. Similar results (and involving more general sequences) also hold for the other k -extensions, $k = 0$ to 3, of all orders q .

4. Conclusion

The k -extensions to the generalized binomial coefficients admit results which extend Lucas' theorem. Direct parallels of Bollinger and Burchard's result have been determined for $k = 4$ to 7.

Related congruences have also been derived for $k = 0$ to 3 but an exact parallel remains an open problem. Further investigations could also involve relating the extensions of Lucas' theorem to various graphs as in [6] and the extension of other congruence results such as those of Carlitz [2,3].

References

1. R.C. Bollinger & C. L. Burchard. "Lucas's theorem and some related results for extended Pascal triangles." *American Mathematical Monthly* **97.3** (1990):198-204.
2. L. Carlitz. "Some congruences involving sums of binomial coefficients." *Duke Math. J.* **27.1** (1960):77-80.
3. L. Carlitz. "Some congruences involving binomial coefficients." *Duke Math. J.* **33.4** (1966):721-724.
4. R.L. Ollerton & A.G. Shannon. "Extensions of generalized binomial coefficients." *Applications of Fibonacci Numbers* 9:187-199, 2004.
5. R.L. Ollerton & A.G. Shannon. "Further properties of generalized binomial coefficient k -extensions." *Fibonacci Quarterly*, 43(2):124-129, 2005.
6. D.G. Poole. "The Towers and Triangles of Professor Claus (or, Pascal Knows Hanoi)." *Math. Mag.* **67** (1994):323-344.

AMS classification numbers: 11A07, 11A41, 11B65